2024 | ABFEK

T

(1) x2tax"x xtb=0 = ()
0 \3‘%%&{(@42 A 3B o AiAS | T =l RAEE 13>
=% 1z 4 <L = (~—:( {ﬁ-@(;%'—) a

LS T O A ko
’{I ~ [Hi)}”{:ﬁ- u-*c)} = x> -2Xt2 F

‘\tﬂz)\S /\-C“ \
xsfuxz*}(‘f)): \D:QFlI_‘l)Lj(tq-tl)-} (20\*3)-1
4 o(—2atd - F) 0 MES =YY

2013 =
o= - 5 y= |
“!)~0 f
FoT @o'd (== —ox42) (x5 /) = AN
J
4 A 9> BB x=1- %, ; -4,




1
2 2
2) < : (x-2)alT-2) =T marsa) i 7
2 Y
C > ¢ (I"3) "&(\f‘\g)e:q» ‘:{7/\”[313} = )
CL:oxToaxad 4y i-arid=F AT
Ca : x - bxt¥AY -bYtTEE
9:,(\ lﬂ’z%]\\\(\

5 -85 +2y-5 =0

d > x
>2x 42y - (0=
x +Y - 5 =D
v = -x+8 T Cu o2 /,‘t‘,\LT
(x- 2) 4 (- x45-2) = &
(x- 2) % (-x+3) =
2 ax+% ¢ P bx+¥ = ¢
2x* - (vox 4 ¢ =0
5%
v+ /7 N - L -0
x == AYY Y (—}-)Jrl ——2—7
STy - -
X‘%ﬁ AT ‘/1”(";7)*L ”S—él}
( . S+ 5‘*5) s—IFr 45
L ?ﬁ\?\} lx-Y) (.2 2 ( 27/ 2 )




@) - 422~4»QI”S°\T’6:

O @ AT Y h T D, ba YA
V.= (-0 = D [-art)

= O(l—(—O(—E

= (u-tj)(O(~l)

p 2
7q = (-20)7— (4) [Suib)
= 40\2 420 - 2F
= 4 (& 4va-6)
= 4 (o +b) [a - 1)
0@ 1=>T , |
SR RYRAE R 3T . 7bR 1y SURCTREL ([0l
R Y LS TR
T) Dy 20 5 D<o Uf) D <0t 2D220

(a13)(n-2) 27 ST 3 MR
‘/D\D 4>
g(ufh)(ﬁ~l)<° oS -b o, ES&
O\§~3‘{b,\32:0k lSO\CQ
~b<t<| (7)(f)
—be s — 3 _b<cls-3, ]s0< 2




A :’T;:q'l‘"x} i
(b)) \xad) oo
pid S

)
301@30\%( n= ;t (7\ H?\['i(a VB .
2124- 1) 2 N
(1) (=446 )loﬂ n REIF =¥ My =" ﬂ’frﬁ%& ’1§BHQ
200% -1
A n = g N (6)
e
029 - (kt!)
(2) Okt el ke [B)
o 029 — k
Ak :)ch k “7)2
(2 O.Zg-) ‘( 202> -k
= _ (k) (ms—k-1) | U’)
(2029) ! 2929 k
(k)\ (2029-k)! (6)
- e 2ok el
(KA [ (2058 -k-1) | ‘ ’ (mgq)‘{ : 4205
(o029-k) 1 _a029-k
(k1) b bktb
—_—
(3) Clhvt o 2029 - k .. '
- RHEE 2018 - 3,(5“718 = 6% 2
LA
0 £k £ 288 AYY, cak = Ukt HTAIE 2,
Akt

O\k’<’ NEVR NN ﬂ*ﬁi!:(,“(‘\ 28?§k <

~

S ap23AtT
Ok 7 Q gty E'Iég . Ak = 0 p ET&&%:{#’Q Y 73“:\1%"
Ao < X<« (<

< Qagn < QALe8 < X289 7 Q007 -
IJoT . Qut+ont =4 no= &Y



2029 W& AN

) xS_ 3xTo=d T = - XT3 NET
L{ Y = ——Ij'\‘gxz ‘@
N B @ (25 T?;:,Zg o
N "ty 7R = -5 =
0 <, Y =-3=x *EI~“’51(I~-4) &
Y =0 EUE x = b .2
R
x| o] 2] - -
Vo l= |40~
AR R
TN RN

&l AiRE £ Sede”
250 B3 T ant X
AR NF T Foobs o




T
) =™ tPY) wFler

R A I
4 (t7) —1b il s

- ~NE = 4"““?? .
"j_g[:‘:t E 2, <(i$ =94 =2 W3,
= 3c}7§<$ FO '<F<‘/—/\5‘<‘_3
- ) '
0 <« 4-[ < | .'_O<i;—&<‘;“ oA
5 - :
Y <i—:2’}"" < 2 \ ¥\\7K2§ .
IR _
-2 =/ | —/Te
2 B 2 T4+ a
= | -%eafb
Cf_
- —Tde
4
i “r
9 < 2 v T .
s T [ W ) 1
’ 2 T8 "?L“
| - [b t B
'y
— )5 4dpg -~ I et [ 5 }%3 )
& 2
S s 5= N I 3o U o 7 2 s 740
B b 16
B L P LN ST s &= NS
! ~ _ _
- ~/1& \ -~ 4“_&
SR E e <2 <)4<jQL A t‘lm,jl_’lgs_ ;r
m@ﬁ@f-;g;\ci‘i P T IR



m

3) moooc‘@)@@(u
b- KN ARkl \&Lh ES %j]é N é )
x = SyB3 AL \Q\ < g8, = E(JE )

QN (RSQ)
SR 73
X = b vl ald N {Dé>\\>
QIS
DCZWE,BS @\3\ \Ql )Ci;Q) = {5(2%”)
N e S
. _ {,Tlo-ﬂS 31
P[5 exs7) = __,,;b_— RS




(Dt tx) = | = x7 wf'eY,
{'(x) = - 2x Fu
’P/\{’CE(:’F JfUn) = - 5
) T R

T = ”Qu(it—o\)-‘.a-u*)
LRy o= Low)o (el

Al xox oy =0 AT XLT
= L— s ) Xt 8 )

= 61-\\

ot |

2

—%— T

N TR

o> A O¢

X =

b))
BBy A 0x Y=} AUACT
| = sz)ri-al—x\

L2Q)I - O






